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Center #2 — Find the area of the shaded area.
i

Center #3 — Find the area of the trapezoid.
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Center #4 — Find the area of the figure.
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Center #5 — Find the perimeter and area of the polygon with the given vertices.
a: P(4,3), Q(4,7), R(9,7), 5(9,3) 2. A(12,2), B(12,13), C(15,13), D(15,2)

Center #6

The vertices of a yard are A(4,3), B(4,12), C(14,12), D(14,3). The vertices of a garden inside the
yard are E(5,5), F(5,8), G(9,8), H(9,5). The coordinates are measured in feet. How many square
feet of grass do you need to cover the yard?



Center #1 — Find the area of the parallelogram (#1 and 2) or triangle (#3 and 4).
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Center #4 — Find the area of the figure.

112 cm

8 ft
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Center #5 — Find the perimeter and area of the polygon with the given vertices.

1l P(4,3), Q(4,7), R(9,7), S(9,3) 2. A(12,2), B(12,13), G(1518)) D(15,2)
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Center #6

The vertices of a yard are A(4,3), B(4,12), C(14,12), D(14,3). The vertices of a garden inside the
yard are E(5,5), F(5,8), G(9,8), H(9,5). The coordinates are measured in feet. How many square -
feet of grass do you need to cover the yard?
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